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® (-2)-(-1)=-3 @ (-2) - (-5) = -7
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D (-90) = (+15)

@) (-96) = (+6)
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_+(9x1x24)_+3
- \4736" 5/




11. o5 J-MM 2 Jofl 5 Al o] o] BF g2, axb o gh=

Fotofet.
(9)
(1) ()
2020

=
=

>
[> MEH: 48 B 148

~a=6

(i) 74+ b+ (-3) =12
b+7+(-3) =12

b+4=12

L b=38

wtA] g x b = 6 x 8 = 48 ©|t}.




12, %% a, bol dstod at(-4) =1, (+4) +b=-1d tl,a-b 9|
e atolet.

R

> HE:. 8&EE= 48




13. (=3) = (=7) + (+5) = (+8) + (+4) & ANIstoiet.

—
ACL)
=
|
T
-3
~
+
—
_|_
—~ ot
=
|
—
_|._
oo
=
+
—
_|._
o~
S

-
=
—

p—\clo\_/




= AAtsteiet,

14. ot




15. tae AR 2= SHkE A2

O

27
20




16.

1 1

[u—y
—_
—_




o <

-25 9 d95¢Ea, -1

17.

8
35

olmg

25
10

2
)

)

4
7




18. % % a b7h b 22 W, axb o A Foteler

7|
a=(-5)x(-3) = (-2?)
b=(-20)+(-1.5)x =
> E
> HE 30
.
a = (-5) x (=3) = (-22)
= (=5) x (=3) = (-4)
= (+15) x —i)
15
T4
b = (=20) = (~1.5) x >
3\ 3
= (-20) x (—;) X g =8
axb= (—%) X 8 = =30




M N ~— __

_ — ~——— ~— ~—




20. oS A T Z (1), (2), (3)olIA] o] 8H MAL 2|2 WohH?

(-20)%(3-5)-(-10
=(-20) x(%)+(—20) X (—%) —(_1o)j (1)

=(~10)+(+4)—(~10)
e
=(+4)+(—10)+(+10) j(S)

=(+4)+0

=4
© 2o, 2z, wey
@ 2uis, 29 E], neh
® wehH |, 2z, Ao
@) =eaa, wewa, 2e83
© weh], A, A

(Dax (b+c)=axb+axc— Fug2]
(Qa+b+c=b+a+c— IFHHZ
(B)a+b)+e=at(b+e) > ZEHA




